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1 = 123 1088 1155 1224 1295 1368 1443 1520 1599 1680 1763 1848 1935 2024 2115 2208 2303 2400 2499
2 20 1085 1152 1221 1292 1365 1440 1517 1596 1677 1760 1845 1932 2021 2112 2205 2300 2397 2496
3 )15 1080 1147 1216 1287 1360 1435 1512 1591 1672 1755 1840 1927 2016 2107 2200 2295 2392 2491
4 8 1073 1140 1209 1280 1353 1428 1505 1584 1665 1748 1833 1920 2009 2100 2193 2288 2385 2484
5 41131 1200 1271 1344 1419 1496 1575 1656 1739 1824 1901 2000 2091 2184 2279 2376 2475
6 1153 1120 ‘ 5 1 80 1989 2080 2173 2268 2365 2464
7 1040 1107 | . 87 1976 2067 2160 2255 2352 2451
8 1025 1002 | P N 71 02 1961 2052 2145 2240 2337 2436
9 1008 1075 | _496 85 1044 2035 2128 2223 2320 2419
10 989 1056 | 11 46 1925 2016 2109 2204 2301 2400
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12 945 1012 71 M2 1881 1972 2065 2160 2257 2156
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15 . 15_y 00 1071 1144 1219 1296 1375 1456 1539 1624 1711 1800 1891 1984 2079 2176 2275
16 X+y=z 1040 1113 1188 1265 1344 1425 1508 1593 1680 1769 1860 1953 2048 2145 224
17 y 1007 1080 1155 1232 1311 1392 1475 1560 1647 1736 1827 1920 2015 2112 2211
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2 - Every Perfect -
- ) Number has an
24 513 24
) EVEN AREA that
28 464 75
combines with its
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ODD Complement
P— —4  AREA to equal the
28 W05 : 16
M 2 961 Square of its
29 248 — . 59
P Mersenne Prime
30 189 00
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M PN=Perfect Number=496=248+124+62+31+16+8+4+2+1 ZR& PN=(2r-1)(2P-1)=16-31 §

M OC=0DD Complement=465 W PN=[(Mp)(2r)]/2=31-32/2§
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o Mp2 =MPS=PN+OC = 496+465=961=31 | PN=M,+OC=31+465 |

M My=Mersenne PRIME=31
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IR4R IRSAS IRSD IRII IR24 IRIZIROD 1TSS 1768 1740 1728 1705 1680 1653 1624 1593 156D 1525 14SR 1440 140R 1365 1320 1273 1224 1173 1120 1065 1008 949 SBS 825 760 693 624 553 480 405 328 249 168 85 184987 176 267 360 455 552 651

44 1935 1932 1927 1920 1911 1500 1887 1872 1855 1836 1815 1792 1767 1740 1711 1680 1647 1612 1575 1536 1495 1452 1407 1360 1311 1260 1207 1152 1095 1036975 912 847 780 711 640 567 492 415 336 255 172 87 193689 180 273 368 465 564

Every Perfect Number has an EVEN AREA that combines with its Odd Complement AREA to equal the Square of its Mersenne Prime



